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(1) FHIRET e 2 = 0 AN TR ( )

(A)f(x)=]x|sin|x]. (B)f(x)=]x|sin v/ TxT.
(C)f(x)=cos | x |. (D)f(x)=cos +/[x].

(2) iFH(1,0,0),(0,1,0) , H5MH z = & +* VP EIC )
(A)z=05x+y-z=1. (B)z =052x +2y —z = 2.
(C)x =yHa+y-z=1 (D)x =y H52x +2y —z = 2.
S . 2n +3

(3);(— 1) Gn+)l - ( )

(A)sin 1 + cos 1. (B)2sin 1 + cos 1.
(C)2sin 1 + 2cos 1. (D)2sin 1 + 3cos 1.
@ wm=[ 4 +2) 00 N = [ %0,k = [0+ Veos Dde, U )
- 1 +x 2 € -3
(A)M > N > K. (B)M > K > N.
(C)K > M > N. (D)K > N > M.
1 1 O
(5) T@J%E%EP,'—?%E%[O 1 1}*@@5@?@( )
0 0 1
1 1 -1 1 0 -1
(A)jo 11 |. (B)jlo 1 1
0 0 1 0 0 1
1 1 -1 1 0 -1
(G)jo 1 0 |- (D)jo 1 0
0 0 1 0 0 1

(6) WA,B 2y n AR, A0 r(X) BAER: X BT, (X,Y) EomarHEE W )
(A)r(A, AB) =r(A). (B)r(A,BA) =r(A).
(C)r(A,B) = max{r(A), r(B)}. (D)r(A,B) =r(A",B").

(7) WFEALAS B X ROMERBEE f(x) WL F(1 +x) = f(1 —x),ﬂf:f(x)dx =0.6,] P{X <0} =
( )

(A)O0. 2. (B)0. 3. (C)0. 4. (D)O0. 5.

(8) P BAR X IRMIEZS G N(w,0?). X, ,X,, -, X, = H EBIK X BT BAREHIEEA | P AEA K 56
@%&:le‘v = Mo, H, #Mo’mu( )
(A) IRAERTKF- o = 0.05 T4 Hy B4 o = 0.01 T a4 H,.
(B) WRAER K o = 0.05 FEZ4 H, 8B4 o = 0.01 FMEZ H,.
(C) WRIEKI KT o = 0.05 MEXZ Hy , B4 o = 0.01 NAIELA H,.
(D) WRIERF KT o = 0.05 TH5% Hy B4 a = 0.01 &% H,.
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(10) BERRELf(x) BA 2 Br#ELe FHL By = f(x) i1355(0,0) HEMZEy = 2 7£55(1,2) 4b4H
10 [ "yl =

(11) & F(x,y,2z) = xyi —yz + zxk, W rot F(1,1,0) =

(12) B LHHRE > +9> +2 =1 5FFa+y+2=0 E"Jféga%,}ﬂﬂf}gxyds I

(13) ¥ 2 B4ERE A B DAREHEE, o, ,a, & A BRI LEHE R &, H 2 A% (e, +a,) =
a +a,, | |A]| =

(14) EHENLEE A 55 B MBS, A 55 C AR, BC = @ .4 P(A) = P(B) = %,P(ACI AB U C)

- %,mumm =

S REE(ABL o /IR, 4 & BENSHXFIRAGEATESEES R, )
(15) (A4 10 47)

KA EF Sy fezxarctan ve' — 1da.

(16) (A4 10 43)
B R 2m B8R i =B R IBERE  E T E S E=/AE. =1 RENERZ METELE
B/ MEIEFEFE K B/ MVE.

(17) (A5 10 73)
WIS EME Y = V1 -3y - 32 BRI, B MERS T = ﬂxdydz + (y> +2)dedx + 2’ dwdy.
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(18) (A4 10 47)
BRI TRy +y = f(x) , H fA(x) B R FRELERE
(1) &Hf(x) = x,RIEBERE;
() & f(x) BB HR T B9REIE . FTEfAEME— I UL T N AR,



(19) (A7 10 57)
B L Ry > O,we™ = e = 1(n = 1,2,-) WEIHO {x, | S IR ]im

(20) (AEFH 11 57)
1’E‘Li:w_’\ﬂ:’gf(5‘71,952 ,x3) = (x1 — X +x3)2 + (xz +x3)2 + (xl + ax3)2,,ﬂ\iﬁlﬂa%%§§§ﬁ.

( 1) SR fCx 2y ,25) = O[O
(1) 5K flay,xy 0005) RIRETE.

(21) (A 11 43)

a

1 a
A W5 AL R AERE B = [ 0 1
1

12
Bl o EHE B A = [1 3
2 7 -1

—a

} |

—_ =N

(1) Ka;
(1) K /& AP = B W] Wi % P.

(22) (KBS 11 49)
BEHEHLAE R X 15 VAT, X RS PIX = 1] = PIX =~ 1] = - Y IRASHOS

A AR, & Z = XY,
(1) 3K Cov(X, Z2);
(1) 3k Z B,

(23) (A3 11 43)
BERR X AYMER S T

I xl

flxs0) :z%e’”, —® <x <+ ®,
Hrfro e (0, + o) RFSE, X, X, , -+, X, Ak A BEX B R EFEVFAS. 2 o iR
RETTHEN o
(1) ko
() RE(o),D(0).
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B XTF DB’ f(x) =cosv |z ]|,

1
—x
31 f/+ (0) :lin}_ leim cos+/ II —1 2 1

1
0y mlim £ SO@ ) cosTaT 1 2
0 x 0 x x
& ) #= £ ), K f(x) # x =0 4RAT T BN i D.
(2) B
g BAYmEEA,0,0,0,1,0) P, JRREFEA—mEQ, — 1,0, M@= 2°+y°
MYk E R 2x »2y, — D T 22 — 2y = 0,80 2 = y. #i¥ % B.
(3) B :
1

J— N J— n e — " ___._—___2
m Eﬁ_;f ATy +,,ZO( D For’

> (—l)n — n x" s
57%[]"20 (Zn)! LI of —COSI,Z(_I) m_snll'

n =0

MEKX =2sin 1+ cos 1. 1% B

(4) C
S O DL 2z
B ARRHET S M =T, S = [ (1 2 ar =a
%%, K > ,N <x.fflA K > M > N. # % C.
(5) A
BB 5 R R I A A 3 AR A 1, 2 AR, MR X R B9 AE — A
T g
Bl E — A BRARHE, BRE — 1 1R 2.
0 0 1
HN 3k AL
(6) A

1 0 1 O
P wﬂfBﬁrﬁ,%A:(O O>,B=(1 1),mur<A BA) =2 = r(A) . £ B.
. . 1 0 0 0
Xﬂ”ﬂ:CJiIJﬂ:,z‘:TA=(O ),Bz( 0),mur(A B) =2 % max{r(A),r(B)},.H% C.

1 0 0 0
*tF Diilﬁ,%Az(O ),Bz( O),murm B)=2#rA" B"),}% D.
BN R A




(1A
& HAA+o)=fAd—o) WA, f@) X Tz = IXTJL%,};J?UJI f(x)dx = f%of(x)dr = 0.5.

2 1 2
RE%],J f(x)deO.G,')_wJ f(x)dx :J (zx)dx =0. 3.
o] 0 1

0

1 1
FJ?U,P{X<O}=[_ f(x)dx=J f(x)dx—ff(x)d:c=0.2.

J

HURE A.
(8) D
& %.\E%"&L7K‘TIZ a =0.05 B A B H, ’mUKTL\gﬁ%ﬂ‘E I Z l < Us. o5 » U ,Z ‘ < Uop. 005
BN iE D.
—BRBE&
9 —2
!—tanz__ }_______tm J— )
T —E%ﬁ—> : 1+ tan x
2 A= =lime =e,Mlim ' =1.
z—0 x—0 Sin kx
— 2tan x —2x
E i - — 1, y -
ﬂilfg (1 + tan x)sin kx kx L BTEL & 2.
N S — 2.

(10) 2n2—1)

B oy= () TEW0,0.8 fz)=0,y=f(z) Hy=2" 75,2 Ml =F1) =2
H £ ) =2In 2.

1 1 1
Jff%xwx=mf7xﬁ?—Jf%xMx=f%D—%fﬂ)—me=ﬂm2—2=ﬂh2—1%
M 2(ln 2 — D,

A i—k
(i j k
o o o
ﬁ rotF= _ — - =(y,-z,—x)|(1,1,0)=(1,0,—1)=i—k.
x Jdy Oz
xy —yz Iz
NV IE i — k.
T
(12)—?
" L_x2+y2+ZZ:1")_!'J3g d-ﬁ 1 (2?48 ld §(1 Z)d T
x+y+z=0, L.Z‘y S—L 2 x y S—L E—? S——g.
HOSHL — -
(13) —1

BB ARRER A NMBFERESS N e, ,a,, W A, =2,a, ,Aa, =1,a,,
A(e, +a,) =1,a, +1,a,.

Az(al+a2) =A(A1al +'12a2) ='1:fal +Aga2:a1 +az9lj]\IJ/11 =i1a/12:i1,




NAF A, # 2, |A =24, =—1.

WU 3 — 1.
(14) !
4
8 P(AC |AB UC)+«P(AB U C)=P(AC)
1 1 1
T [I+P(C)J—?oP(C)

1 1
JREE

| 17 -
(15) #& Jeh arctanve® —1ldx = ?J arctan+/e® — 1 de™
]' 2x z 1 eZI
=7e arctan./e* —1 — — dx.

4

2z x
X J £ dx =J c de”
—1

Jet —1 Je*
Zf«/el — 1de* —|—J I! de*
el

2
==(e =D Ve —1+2/ —1+C,

3
r .
E{—])jJ e arctan+/e” — 1dx Z%ez"‘arctan«/ex —1 ——é—(e’ +2) /et —1+C.
(16) & WEREEN 2, EFESE=MIBEHDBESBN v 2, W8S K . %
2 3 .
Flz,y,2)=nx’+y +§Z FEFM 2nx +4y +32=2(x >0,y >0,z >0) TERE

TE B /IMH.

A Lxsysz,d) =mz’+y° —I—@zz +ACrx +4y+32z—2), FEBHEA
OL _9rr + 272 =0,
ox
%:231 +4A =0,
oy
<
oL 3 _
5 2 z + 31 =0,
%227(33 +4y +32z—2=0,
. 1 2 2+/3
ﬁg'f‘%‘xo:*—’ Yo — 9 Zoz————[ -.
m+4+ 33 7+ 4+ 343 m+4+33
1
f(x, Yo 1Zy) =

7r+4+3«/§.
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(18)

NY 2rx +4y +32=2 H zyz =08, f(x,y,2) WER/AMEHN

f<0 2 2./3 ): 1
"A+343 443437 44343
A =AEE R A R/ME . &/IMER
1
(Zg1y0r2y) =—-——(HNL ; 5.
Jlxoryorze) = m s (R
X L [3y° 37 =1, X S
B s, ﬁilzﬁx:ow{ B A RN, NS 5 S, FFE R
X — U,
W& A,
ﬂ zdydz + (y° 4+ 2)dzdx + z°dz dy =_m(1 +3y* 4+ 32")dzdydz.
$+3, Q

Wy=rcos@, z=rsinbd,N

[ 2 ‘/TT
Jﬂ(1+3y2+322)dxdydz =J d@[ dr
[} v o

o)

JJT—?F

0

1+ 37)rdx

V3
=27cJ3 r(1+3r%) /1 — 3% dr.

0

-&\/1'—37’2 =L‘,|)_'JJ
V3
3 1
an r (1437 V1 — 3r? drzz—”J (2 —t2)¢*dr
0

0 3
_ i
45
Xﬂxdydz + (y° +2)dzdx + 2°dxdy =0, LA I :%_
Z1

B ()Y f)=xit, FBEAy +y=x,HBMRERH
y=e (C—l—Jxezdx)

=e " (CHzxze" —¢€")

=Ce " +x —1.
(I FRE Y +y=r(x) WEMBH

e (c +JI ejl"dsf(t)dt> :
0

fzx
By =c*(C+ | efdt).
Etayu)=e"f(c+er‘f<z>dz),”§=
fz+T [z
y(lxz +T)—y(x)=e" [(%—1>C+%J e’f(t)dt—J etf(t)dt},
e (] 0 0
BA f () ZRMN T 8L R % fr A
1 z+T , 1 T , 4T
—T( ef(t)dt=—TJ ef(t)dt—l—iT( e f(e)de
0 e VT

e Jo e




T

T
:iTJ e f()de + -ITJ T f (u 4 T)du
e 0 e 0

rrT

e Jvo

¢ £()dt +J1e‘f(t)dt.

_ 1 (T,
M y(x +T) —y(x) =€~ (.T_——1>C—|——7joef(t)dt .
) e

€

T
Frl, 4B Y C= Tl 1J e f(t)dt Bt ,y(x +T) — y(x) =0.

o —
BT RAFEME— R L T 2 RS O e
s

T,

AN R BTz, 50,5l e ==

x

R S, AL € € (0vr ), S =L

C.

oy —
Ll e =ef o<z, <zx,.
,ﬂ;ﬁﬁo<xn+l <xn’ﬂ]‘u

Tl
e

e,z<,,+2= _1:e17(0<7]<$n+1)9

Z 1

FrLL 0 <<z < Xpia-
B, ) EBREREANES, BA TR Afi{x, ) 8.
ﬁ}i__rpmx,,=a,?%‘=ae“=e“—1.5%ﬂa=0 LR
A fx)=ze —e + 1,0 f(z)==ze".
LYo >0/, (x) >0, K8 f(x) L0, + o) EHRJREM,BTLL o =0 BT
ae® =e* — 1 7£[0, +o0) FHIME—KIZ, iﬁqux =0.
20) BB (1) flx,ra,,2,) =0 HHMNY
x, —x,+tx;=0,
sz+x3=o,
[xl +ax, =0,
Xof 7 A 4 1 2R A0 P e LA ) S AT AR A
1 —1 1 1 0 2
0 1 1)—’(0 1 1 )
1 0 «a 0 0 a—2
Ya A 20, FERARBER, W f(x,,2,,2,) =0 WEHRH x =0,
-2
Ya=20, FRAAIF LM, . EHN x =k (— 1> Tk HEE
1

—2
él‘& f(xl,xz,x3)=0 E‘Jﬁ@%x :k(_].) 9k ﬂ‘j{i%ﬁﬁﬁ.
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(22)

(I BCI S, Y a #28, f(x, 2,2 EE, [ (2,2, BRERR yi + 52 + 5.
é/a =2 B;j-’

Flx,szx,s2,) =222+ 2224+ 622 —2x,2,+6x,x,

1

3 2 3
=2(x1 —?xz—kgxg) +?(x2 +x,)%,

F)?u f(xl9xz 713) %%ﬂﬁﬁ;j} y? +y§.

f2 (1) X4 A,B 535 AP) 547 28 4%
1 2 a 1 0 3a
A=|1 3 O)-’O 1 —a),
2 7 —a 0O 0 0
1 a 2 1 0 0
RN
-1 1 1 0 0 2—a

A a =2.

(D) \HCI) Ma=2,%8EKA | B) U ETEERSE

1 2 211 2 2 1 0 613 4 4
(AiB)=|1 3 01i0 1 1)—»01—25—1 —1 —1
2 7 —2 1 —1 11 0 0 0140 0 0
iB=@,.p,.B,), BT
—6 3 4 4
Al 2 |=0,A|—1|=B,,A|—1|=8B,,A|—1]|=8,,
1 0 0 0
it AX =B HIf#H
3—6k, 4—6k, 4—6k,
X=|—1+2k, —1+4+2k, —142k,|,HP k, k, k, FIEEFLK.
k, k, k.,
HF|X|=k, —k,, TLAHHE AP =B W] Wi [ A
3—6k, 4—6k, 4—6k,
P=|—1+2k, —1+4+2k, —142k,|,HHr k, # k,.
k, k, k.,
g (1) AERIHE
EX=(—1)><%+1><%=0,

E(XZ)=E(X’Y)=EX"+ EY=2.

FFLL Cov(X,Z) =E(XZ) —EX « EZ=A.
() Z Wpr A A REBE A R E5UE, B
P{Z=0}=P{Y=0}=¢";
NFn=+1,+2,,H8
P{Z=n}=P{XY=n)




(23) ﬁﬁ (I) -ifi$1 s L gs X, ﬁﬁﬂiiﬂfﬂﬂﬁ,{ﬂ%@ﬁﬁ

1 n
—:,2 [z |

i=1
e 9

L) = f(z,50) =5

M In L(a)——nan—nlna——Z |z, |.

l=l

pdin L) __n o 1Sh) o =08
(o2 o i=1

do
1
_72\11'
A 1<
mVJ\G:;EIXi‘-
i=1

o0 +o 1 -l=L 1 [t = ,
(H)Hﬂﬂ:E|X'=J Ix[f(x;o)dx*j |x|—oe ‘ dx=;J ze “dr =0, T

0

Es =—2E|X |I=E|X|=0,
1—1
XA R
- oo L=l 1 (re =
E\X|2=EXZ=J ].'Z‘/.(JC;O')CII:J 1251—e ‘ dx:;J z%e *dx =20%,
e o [0} ]

D(|X|)=E(X|HD—(E|X] =6,
Bt LA
=—ZD<\X )=

1 =1

DX _o*
— =






